A & ol & AF & Ml A
20228 = =0l & 2B A
M S22
a1 200 Mo
© 210 B ARMLA-Y

0% e o

L 212 NBRAY (69 @2
SN-F-B-g-2 0l &k o8 B ol by Bl =2t
ES Al 20,057,000 13,011,700 7,045,300
S=2 20,057,000 13,011,700 7,045,300
200 Mel=+=¢ 2,060,000 2,161,700 A 101,700
210 BTN == 2,060,000 2,161,700 A 101,700
212 A3 =Y 2,000,000 2,100,000 A 100,000
212-01 T 2ME = 2,000,000 2,100,000 A 100,000
OEZMES=E 2,000,000
215 2023 60,000 61,700 A 1,700
215-01 =12 3=+¢ 60,000 61,700 A1,700
OEZAMEZ 1T Z 60,000
500 Ex = 3,785,000 3,150,000 635,000
510 3 182X3S 1,785,000 1,150,000 635,000
511 208X =3S 1,785,000 1,150,000 635,000
511-02 NS LN ELIAHNEXS 1,785,000 1,150,000 635,000
Ox=&~3tH2t A2 H4 1,205,000
OWsSAMI 2 HEAMY 380,000
O3 MU=z AXAS 200,000
520 Al - SHIE X3S 2,000,000 2,000,000 0
521 Al - SHIEXZ2S 2,000,000 2,000,000 0
521-01 Al - SHIE X3S 2,000,000 2,000,000 0
Ox&~stF2 Az A4 2,000,000
600 XI 2 xH 14,100, 000 7,700,000 6,400,000
610 =LAt 2 14,100,000 7,700,000 6,400,000
611 XUt = 14,100, 000 0 14,100,000
611-02 3 S 2 14,100,000 0 14,100,000
OxF-~stZ2 2392 A& 3,600,000
O==2 32 M4 3,100,000
OS05tat0I A IC EXIAY 3,900,000
O&Fg 255 TAMNHEZZ(A2-21654) A 1,600,000
OZEUMRPICZ(RA~EH) HE S A 1,000,000
O=gZdME u=s Uss ddE2 SHEIA 900,000
700 EM LS LHEHH 112,000 0 112,000
720 LHS 1 cH 112,000 0 112,000
721 M= 112,000 0 112,000
721-03 JIEtSI HE L S 112,000 0 112,000
ORs8XA~XNLZ102008 6 (A+=2AZ 0 & 17224 112,000
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A & 0l & AF 2 E A A
2M: E2
B goicz o CAHHECR e
ool SN CANHCR R CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S22 56,501,331 47,245,217 9,256,114
s 1,785,000
< 2,000,000
Al 38,616,331
T 14,100,000
292 Y TAHEEZ 4 19,557,501 17,477,932 2,079,569
s 1,205,000
< 2,000,000
Al 4,752,501
T 11,600,000
S SAAEEZ W& 7,144,800 11,907,400 A4,762,600
Al 4,044,800
T 3,100,000
2SAN2~XNY 1020088 SAHEEZZ W4 1,512,000 0 1,512,000
401 AIEHI L 201 1,512,000 0 1,512,000
01 A& HI 1,512,000 0 1,512,000
O172H( & X 72 ) 3 AtEI (L=1.29Km, B=12~21m) 1,400,000
O&=2=2 04 (141)L=140m, D=500mm) 112,000
SEFEMIHI MLEZ2 HE 1,200,000 3,600,000 A 2,400,000
401 Al HIZ 201 8] 1,200,000 3,600,000 A 2,400,000
01 A& HI 1,200,000 3,600,000 A 2,400,000
SEIEMNYHI MNUEZ EE BAH(L=1
29km, 2,3X2—3,5Xt2) 1,200,000
282 232 MWE 3,100,000 1,000,000 2,100,000
T 3,100,000
401 Al HIZ 201 Y] 3,100,000 1,000,000 2,100,000
T 3,100,000
01 A& HI 3,100,000 1,000,000 2,100,000
O=8 R3E=Z M BaH £ =AHI(L=1.53
km, B=25m) 3,100,000
H 3,100,000
Hds =402 SANHEZZ(22-625 62 1) W4 300,000 0 300,000
401 Al HI K 201 I 300,000 0 300,000
01 A& HI 300,000 0 300,000
OS2 44l (L=321m, B=8m) 300,000
A0S SAHEANE(E2)2X B4 500,000 500,000 0
401 Al HIZ 2018 500,000 500,000 0
01 A& HI 500,000 500,000 0
O &4l 500,000
SN SAAHE E2H4 7,800 987,400 A 979,600
202 044l 2,800 2,400 400
01 SLHOYI 2,800 2,400 400
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el

S22
ATz L TAAHEEZ HE
SN TAAEEZ 4

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OZAHEETZ HE d2=X0H|
700,000 = 4H 2,800
401 AlEHIZL 2 0HY| 5,000 5,000 0
03 Al 201 Y| 5,000 5,000 0
OZE2MEAY A2l 5,000
CAHEEZ 0lXZ2=X 24 500,000 0 500,000
401 AlEHIZL £ 0HY| 500,000 0 500,000
01 Al&H| 500,000 0 500,000
OO0 XIS X 24H| 500,000
SABE TAHEZZ HE 25,000 0 25,000
401 Al HI L £ 0HHI 25,000 0 25,000
01 Al& B 25,000 0 25,000
OB aHH| (L=116km ;| B=5m) 25,000
FANHEZ WA 11,705,000 5,000,000 6,705,000
g 1,205,000
= 2,000,000
TH 8,500,000
EH~oIY2 2ACZ AHE 6,805,000 3,000,000 3,805,000
= 1,205,000
= 2,000,000
TH 3,600,000
401 Al HI L 204 HI 6,805,000 3,000,000 3,805,000
g 1,205,000
o 2,000,000
TH 3,600,000
01 Al&H| 6,805,000 3,000,000 3,805,000
Ox=H~st¥2t A=z 2AHE 6,805,000
g 1,205,000
= 2,000,000
TH 3,600,000
2EUHRI 2 (LH~AH) HEZA 1,000,000 2,000,000 A 1,000,000
TH 1,000,000
401 AlEHIZL £ 0HY| 1,000,000 2,000,000 A 1,000,000
TH 1,000,000
01 Al&H| 1,000,000 2,000,000 A 1,000,000
OZTUHNRI T2 HEZ2A SXY BAHS(
L=6.4km) 1,000,000
TH 1,000,000
S0Iot0lIHAIC XA 3,900,000 0 3,900,000
TH 3,900,000
401 AlEHIZL 2 0HY| 2,100,000 0 2,100,000
TH 2,100,000
01 Al&H| 2,100,000 0 2,100,000




2N E27
M. doacz L SAHEEZZ HE
©e: FAHMEZ W4 (cho &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
OS2 A B AH| (L=355km, B=20~27m) 2,100,000
TH 2,100,000
406 J|EFXH201 A 1,800,000 0 1,800,000
TH 1,800,000
01 JIEFAH20| & 1,800,000 0 1,800,000
OZ2AHH 232 1,800,000
H 1,800,000
HEHOIE €43 565,651 430,657 134,994
NEANEH 29 226,890 219,597 7,293
201 LEt2 Y| 215,815 213,522 2,293
01 At 22l Yl 5,927 4,516 1,411
OXNEHIN=ERE BSEH 7
50,000& = 30N E 1,500
OsAEXZ2L 22,000& = 58tA x 12& 1,320
OEAMI EYH F2¢ 200,000 = 1CH = 43 800
OZYE 93 2
60,000& * 15 = 20§ * 43 480
OAL)| ZHY SX22ld]
70,000& * 104 = 43 280
OXNEH2HA S22 HE
300& = 1,0008 = 23 600
OANMBIXINEA B8 82 H &
947,000& * 14 947
02 33249l 209,888 209,006 882
O&dteE22 40,000& * 12& 480
ORI HH|IAIAE 110,000& * 128 1,320
OXNEAH uEH BEIHY (Hil, NEnNsZ) 4,500
OAMOITHA JHEAH B I (A 200,000
OX&ENH #EA 2 22H(REE2 € o)
10,000& * 70CH = 33 2,100
Ost&Ea 2 =H& 124,000& = 123] 1,488
206 M = Hl 6,600 1,600 5,000
01 X bl 6,600 1,600 5,000
OO0IMXTEH =cIRZ 40,0003 = 1004 * 43 1,600
OUXNKNEH £2ES 50,000& = 100CH 5,000
301 dEtEX = 2,475 2,475 0
09 HAIAHI X &= 2,475 2,475 0
ONEAHUWA XJASALA X2
11,000& * 1 = 355 * 3¢ 1,155
OO0IMTEHME XJASALA X33
11,0008 * 10¥9 * 128 1,320
307 QI2t0| ™ 2,000 2,000 0
02 DI2HEAAIEE X 2,000 2,000 0




2M: E2
M ZACZ Y ZAAHEEZ HE
@2 HEAH0IE 2435 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OdiXt&ENH ol Bx3 2,000
HEANEZ2 FH| 201,000 201,000 0
401 A& HIZ 2018 201,000 201,000 0
01 A& HI 200,000 200,000 0
OXAEN 0IESANEE 222K E 2 (L=258km) 200,000
03 Al 2 THHI 1,000 1,000 0
OXNEANE=Z EHl AIZ=20Ubl 1,000
ZEE NENEZAE 22 10,780 10,060 720
201 24| 8,280 7,560 720
02 =224l 8,280 7,560 720
OFSPIETE=, 50,000& = 300 A * 128 1,800
O&E3Hd & AHUANERZ
180,000& » 3 A » 12& 6,480
401 AIEHI L 2 CHYI 2,500 2,500 0
01 A& HI 2,500 2,500 0
OZAdE 228 RAE==(3Ma) 2,500
EtOI0F SEXENH 29 126,981 0 126,981
201 Let24d] 126,981 0 126,981
01 At 22/l 2,000 0 2,000
OEtDII0F SEXNEN 222 89 MM
IR & AA==E 250,000& = 8H 2,000
02 =24l 124,981 0 124,981
OEtLDJI0F SSTEH 22l 89
8,961,667& » 12& 107,541
OEtDII0F SEXNEN BEEE
420,000& = 12& 5,040
OELLII0F AIE2 ST (HEEX AMLES
LA2E FAA2HE) 10,000
OEFILOHIOT S4ldl 200,000& = 12& 2,400
SH A 2tel 142,050 139,875 2,175
SR MHe 22 142,050 139,875 2,175
201 £B-2dH| 34,150 32,675 1,475
01 At 22l 34,150 32,675 1,475
OE2HEYERXN SII+==2 15,0008 = 250A 3,750
OSRML E&x2 500,000& = 20A 10,000
OSSR Met MEHZAL & =5
50,0003 * 190HS%Hs » 20 & 1,900
ORHBR EX Zdm 44X
100,000& * 504 5,000
ORE0IS2 g3z 48 28 2 SE2 2,500




2M: &2
HE: TR U CAHEZZ Ha
©el: SR 2el (cho &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ODISIIEXN ARAUON A5 HSA 2
2,200,000& = 5A 11,000
202 04| 4,900 4,200 700
01 2L I 4,900 4,200 700
ORI HAEX BaAFEO A=K
700,000 = 7H4 4,900
203 R F & 3,000 3,000 0
03 AIZH =& 25X H| 3,000 3,000 0
OE2HE Z2&H &8 =& 3,000
305 HHAZ2S 100,000 100,000 0
01 A 2SS 100,000 100,000 0
OFRY0IS=2 Btatd2AS A2 100,000
ANBISHAIE ol A 4,129,092 3,502,337 626,755
A Bl =2 A ol A 4,129,092 3,502,337 626,755
I2SE, BEotE 22| 4,120,232 3,495,677 624,555
201 LBt Y| 3,725,632 3,094,677 630,955
02 222494l 3,725,632 3,094,677 630,955
QIR2Es - Bots HMI|2(29,1860H ) 3,700,000
OJINZSE2Z2HAHAIAEY SAE
4,000& * B34 A « 1200 E 25,632
206 M = Hl 150,500 139,000 11,500
01 X2 H| 150,500 139,000 11,500
OJI2E - BotE B4 MEH| 145,700
—-dHIT(HES, NEZ) 18,000& * 2,150 38,700
- D& ST (LED) 200,000 = 5004 10,000
- OtA D] 22,000 = 11,2004 26,400
—-5Hots XAs&H)| 50,000& = 30074 15,000
-g 2y SIS 28,000& * 20004 5,600
—-HorsS)| 2 100,000& = 10074 10,000
—-LED SO+ 600,000& = 5004 30,000
-JIEF S (A0S, EHEHHE SX 5) 10,000
OJdlzs HOHIl ¢ 4,800
-2 Mg 2,400,000 = 2CH 4,800
401 Al HI L 2 0HHI 244 100 262,000 A 17,900
01 Al& H| 244,100 262,000 A 17,900
OB0tE A7 EXZ2AM(AFE FO=SAAIY)
480,000€ * 120 57,600
QOINR2E A7 BXNZ2AM(AFAE FO=RAALY)
1,500,000 = 25 37,500
OS5 (o) BotS WHZAH
900,000 = 40S 36,000




2M: E2
HE: ADIZHAE W4
SR AYUESEAE ol & (&)
. SfE|
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OLE(OtE) MH2S WHSA
2,000,000& * 30 60,000
OXz2s 2% AHols LHMIA 28,000
-AsH 40,0003 = 500m 20,000
A= 8,000& = 1,000m 8,000
ON2S HMOE WMISA
2,500,000 = 200 A 5,000
ODSE(LED) B WH S A
200,000& = 100 20,000
MESHOR XHel 8,860 6,660 2,200
201 Let2dE] 3,660 2,160 1,500
01 At 2t 2l 1,500 0 1,500
Oul=l 1,500
-AgE(s,05) 250,000& = 59H 1,250
- ot& St 50,000& = 5 250
02 2324gHl 2,160 2,160 0
OrR0JIst SUHE MEZ
36,000& = 5CH = 12& 2,160
202 044l 4,200 3,500 700
01 SLHOIYI 4,200 3,500 700
O1200lsl & JRFL 0
700,000 * 64 4,200
206 M= Hl 1,000 1,000 0
01 MHZ 4l 1,000 1,000 0
OMeoldxel ME (¥, 8,243, 4 8) 1,000
sE&= FUAY 4,427,800 4,708,400 280,600
Al 1,927,800
T 2,500,000
25,5252 UMY 200,000 50,000 150,000
stgl 833 2 11sd E 200,000 0 200,000
401 AIEHI L 20 200,000 0 200,000
01 A& HI 200,000 0 200,000
O3 Atdl (L=188m, B=14m) 200,000
S8 EAHEEZ W4 4,227,800 4,658,400 A 430,600
Al 1,727,800
T 2,500,000
A Z2USE AN ~ H2APT SAHEEZZ (L2-508 370,000 0 370,000
o) B
401 Al HIZ 201 I 370,000 0 370,000
01 A& HI 370,000 0 370,000
OS 44l & ZAtHl(L=126m, B=4~8m) 370,000
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SEEZ ZHAY
AN TAANEEZ HE
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Hu
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SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
S BEES CAHHACR(A2-21654) HHa 1,600,000 2,000,000 400,000
TH 1,600,000
401 AlEHI 2 2 0hHl 1,600,000 2,000,000 400,000
TH 1,600,000
01 A& HI 1,600,000 2,000,000 A 400,000
OBadl & ZAHHI(L=1,7km, B=10m) 1,600,000
TH 1,600,000
SIS SAIHEEZZ WA 357,800 7,400 350,400
202 04 b 2,800 2,400 400
01 2LHHI 2,800 2,400 400
Os&E&2 FRFAAH| 700,000& =* 49 2,800
401 AIEHIL 201 355,000 5,000 350,000
01 Al& bl 350,000 0 350,000
Olls =8 SANHETZ SHESA 350,000
03 AlE 201l 5,000 5,000 0
OZ2HEAME AIZ=20dI 5,000
2YANHE NS Usz: AATR HTIA 900,000 0 900,000
TH 900,000
401 Al HI L £ 0HHI 900,000 0 900,000
TH 900,000
01 A& HI 900,000 0 900,000
OMAEAH=HH L 2&H|(L=1.5km, B=10m) 900,000
H 900,000
28 2H27 TANHE 2 (A2-44154) WA 1,000,000 0 1,000,000
401 Al HI L 201 1,000,000 0 1,000,000
01 A& bl 1,000,000 0 1,000,000
OB 4dl & ZAHHI (L=180m, B=8m) 1,000,000
SE2RA 22 11,452,412 8,552,953 2,899,459
as 580,000
Al 10,872,412
T 2Chs 2 &g 81,054 78,963 2,091
DEREZA L 82X 77,614 76,523 1,091
101 2124 1| 70,114 67,523 2,591
04 JI2ZtHI22NHESE 70,114 67,523 2,591
OnNSEXTAI SAH 8,000& * 400 * 23] 6,400
ONESSXZAH 21 2A4H]| 60,400
-2t 128,000 * 200 * 1 25,600
— Ok 2t 174,000& * 200 = 1L 34,800
OQLNEEXZANH BE&82= 60,400,000& * 3.5% 2,114
ONSEFXTAH 2HAH| 3,000 * 400Y 1,200
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P EEes 2 oAl

5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
201 Bt 7,500 9,000 A 1,500
01 AP 22| H| 7,500 9,000 A 1,500
OnNsSsXZA &2 & Hols 2
60,000 * 10004 & 6,000
QUSESEXZAI AIRE3 24|
15,000& * 1000H & 1,500
cCzae 29 3,440 2,440 1,000
201 et 9| 2,440 2,440 0]
01 AFR 2t 2| H| 1,000 1,000 0
OL&EA & LANIS SHHH AEIH HE
200& = 5,0008 1,000
02 =224 H| 1,440 1,440 0
Ozl SUHE MES2
40,0008 = 304 *~ 128 1,440
206 M 2 Hl 1,000 0 1,000
01 =4l 1,000 0 1,000
OLANIES O ATE(ZRT) 1,000
S X 22 5,752,868 6,090,400 N 337,532
SCZ2RX 22 2,569,708 2,520,600 49,108
201 gBt24d| 57,208 11,580 45,628
01 AP 2t 2| H| 24,850 2,630 22,220
OEZ 2G| IIAIAE X228 20,000
OEz&2INAJS =
70,000 * 7Y « 43| 1,960
SHolithidl &2 &40 &
55,000& * 5004 &~ 2,750
O=ZS M AESE 140
02 Z=22%H| 32,358 8,950 23,408
OEzHHIE SUHE MEZ
50,000& * 404 = 12&€ 2,400
OA & ZH SR 22 29,958
-T2 E2EH RFUH(AI,HMEX) 7,278
YU 1,505% x 102l& *~ 100H » 30 4,785
R = 1,385% * 102lEf * 60~ 30& 2,493
- J|E} &Hl X4 3,000
-8 XYl 1,000,000 = 4CH 4,000
—Me DX =222 20,0008 = 120H€ 240
—HE2AEX(SA,HI)22
120,000 * 12& 1,440
—SoMH2H(S A, E D)3
25,000 * 504 = 120 & 1,500
- WSt A A A
2,500,000& = 504 12,500

_8_
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SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
202 (4] 4,200 3,600 600
01 2L Y] 4,200 3,600 600

Oz &2 g2F=Xo| 700,000& * 64 4,200
206 M=l 175,300 132,420 42,880
01 X2t 175,300 132,420 42,880
OEZELEH & M2 175,300
-8 X2 4,000& * 10074 400
— &t 8,000& = 504 400
- 6,000& x 100H 600
-dologE e d 2L
400,000& = 100 40,000
—A201A2 2 11,550& = 10,000 115,500
-SAMZ HoEZY 100,000& * 90 9,000
-SHWEIRQ 1,000,000& * 404 4,000
—EZ20HFL(HNMASED) 600,000& * 4CH 2,400
-Wl=J F¢ 500,000& * 6CH 3,000
305 HAa=2S 15,000 10,000 5,000
01 HIMN=SS 15,000 10,000 5,000
O=3ItaASE BHa=2 15,000
401 Al HIL 200 2,318,000 2,363,000 A 45,000
01 Al &bl 2,265,000 2,340,000 AT75,000
Oa&E =X iz JH& AL (L=5m) 200,000
OS24 2USE2EH1A, OItEss 14
) 2,000,000
OHIgH otMACtE A (6200 &) 40,000
OHE 3095 & AUl 3 A 25,000
03 AlE 201l 53,000 23,000 30,000
OzEx JIXY NS (%) ,22 24
CHHl &=Hl LX) 50,000
OZ2ZelAtg AIZ=20dl 3,000

Ol A&X & A 983, 160 1,969,800 N 986,640
101 @121l 80, 160 66,800 13,360
04 JI2ZtH22XNEE % 80, 160 66,800 13,360

ool HEMA 2 (L=386km)
66,800 * 400¥ * 32| 80, 160
401 Al HI L 2T 903,000 1,903,000 1,000,000
01 A& HI 900,000 1,900,000 A 1,000,000
Oels &Ax < Al (L=3.76km, B=1.5~3m) 900,000
03 A& 20H Y| 3,000 3,000 0
O&: &AX Y bl AIE=20UbI 3,000
T&aECE S22 2,000,000 1,500,000 500,000
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HM: 2RI 22
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 2,000,000 1,500,000 500,000
01 A& HI 2,000,000 1,500,000 500,000
522 MHEE ZAH(L=60km, B=3~23m) 2,000,000
ZOHQ EHSHA o 200,000 100,000 100,000
401 A& HIZ 201 Y] 200,000 100,000 100,000
01 A& HI 200,000 100,000 100,000
OZOMQ EHEH MW ZA 200,000
AAsxtusztel HEAY 1,760,000 900,000 860,000
s 580,000
Al 1,180,000
NSAID &2 R NSNS (HEAIY) 760,000 120,000 640,000
s 380,000
Al 380,000
401 Al HIZ 201 8] 760,000 120,000 640,000
z 380,000
Al 380,000
01 A& HI 760,000 120,000 640,000
OunsAD 22 HEAMS 760,000
s 380,000
Al 380,000
Helol Es29 w22 600,000 600,000 0
401 AIEHI L 20 600,000 600,000 0
01 A& Bl 600,000 600,000 0
O0gol E5+9 AIEEH & SHSUHAAE
= Al2el 600,000
SELXE XA (HEAR) 400,000 180,000 220,000
s 200,000
Al 200,000
401 AIEHI L 20HYI 400,000 180,000 220,000
s 200,000
Al 200,000
01 A& Hl 400,000 180,000 220,000
O™z XA 400,000
s 200,000
Al 200,000
CEZANES RA2L 3,858,490 1,483,590 2,374,900
ANEES RX2e 2,912,490 886,590 2,025,900
201 £B-2%H| 25,290 20,590 4,700
01 At 22l 21,700 17,300 4,400
O&EIIAE etz HHEA(EY XA =2
9 &) 21,000

700
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SR 22
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 2224 H| 3,590 3,290 300
OHIaZL- YU BEA Md=23H L OIF
g 22 120,000 * 12& 1,440
OFRNMEWe 40 HAXSGRS
75,000 = 12&€ 900
OS2I HIIGHHEA =2
250,0009 » 5IH A 1,250
202 o4 | 4,200 3,000 1,200
01 2L I 4,200 3,000 1,200
OEZANEEY Hg2FX0| 700,000 = 6H 4,200
401 AlEHIZL 2 0HY| 2,883,000 863,000 2,020,000
01 Al& H| 2,883,000 860,000 2,023,000
OAEZE HIIHEE A (22900 A ) 40,000
OE2AES UM AA(15IHA) 400,000
OE2ANEES SXNE$(39MA) 1,600,000
O WHABUAZAN(NGHY,2210) 843,000
CHEMAId=E SA&2 401,000 351,000 50,000
1 A& H Y20 401,000 351,000 50,000
01 Al&H| 400,000 350,000 50,000
OEZRUEAIEE SANEXODIEY Y HA =2}
c, X ':) 400,000
03 AlE 201 Y| 1,000 1,000 0
OCHMAIEES &EHl A&E=20Y] 1,000
B0 SX22 45,000 41,000 4,000
401 AlEHIZL 2 0HY| 45,000 41,000 4,000
01 Al& H| 45,000 41,000 4,000
OFAZA(RASD 4A)
400,000 = 5IOHA + 12& 24,000
Os2) SXNES S (MWL 4IHA)
350,000& * HIOHA * 12 21,000
C2% HEXT HUALE 500,000 205,000 295,000
401 AlEHIZL L2 0HY| 500,000 205,000 295,000
01 Al&H| 500,000 205,000 295,000
OE2H ZX& HUMG (22 7HeA
TXE HH|) 500,000
HES2IAAH(E2 ) 868,414 934,808 N 66,394
oA 2HH| 751,430 836,875 N 85,445
oled 2A | 751,430 836,875 N 85,445
101 e1214| 751,430 836,875 N 85,445
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